Global Manufacturing, Inc®
1801 East 22nd Street

Little Rock, AR 72206
501.374.7416 &L

_“R BLASTERS 501.376.7147 rax
GlobalManufacturing.com 800.551.3569 ToLL FREE USA & CANADA

VIBRATORS

4
VIBRATORS

e}

14

Weights - Part Number

QT2-175-1 196017
QT2-250-1 196025
QT2-500-1 196050

Parts List for QT2-175/250/500-1 Electric Vibrators - 60 Hz - 1 Phase - 115/230 VoIt

QT2-175-1 115 Volt pn 6211001 QT2-175-1 230 Volt pn 6212001
QT2-250-1 115 Volt pn 6211002 QT2-250-1 230 Volt pn 6212002
QT2-500-1 115 Volt pn 6211005 QT2-500-1 230 Volt pn 6212005
¢ oescvion _pans av| ¢ vesaion ___rans v
1 |Bolt Hex Head 4" - 20 X 8" | 331080 | 4 9 | Stator 461113 1
2 | Lock Washer V4" 338104 4 10 | Wire Nut 2 ea-115V or 3 ea-230v | 450296 | 2 or 3
3 | Cover 117348 1 11 | Lock Nut 2" 450440 1
4 | Weight - see above for pn 196017 1 12 | Cord Restraint 2" 450435 1
5 |Bolt Hex %" - 20 X 1" 330010 | 1 13 | Terminal Ring #10 16-14 AWG | 450262 1
6 | Housing 145042 | 1 14 | Electric Cord 115V 450316 1
7 | Bearing 6304 2RS 380304 2 14 | Electric Cord 230V - no plug | 450316 1
8 | Rotor 461111 1 15 | Bearing Cover 117142 1

Copyright 2016 © Global Manufacturing, Inc QT2-175-250-500-1PH_06/21/16 rev 1



Global Manufacturing, Inc®
1801 East 22nd Street

Little Rock, AR 72206
501.374.7416 &L

_“R BLASTERS 501.376.7147 rax
GlobalManufacturing.com 800.551.3569 ToLL FREE USA & CANADA

4
VIBRATORS

VIBRATORS

3
2 /
1 /
/

—
—

Weights - Part Number

QT2-175-3 196017
QT2-250-3 196025
QT2-500-3 196050

L]

Parts List for QT2-175/250/500-3 Electric Vibrators - 60 Hz - 3 Phase - 230/460 Volt

QT2-175-3 230 Volt pn 6232001 QT2-175-3 460 Volt pn 6234001

QT2-250-3 230 Volt pn 6232002 QT2-250-3 460 Volt pn 6234002

QT2-500-3 230 Volt pn 6232005 QT2-500-3 460 Volt pn 6234005

Description ‘ Part # ‘ Qty | # ‘ Description ‘ Part # ‘ Qty

1 |Bolt Hex Head 4 - 20 X 8" | 331080 | 4 9 | Stator 463013 1
2 | Lock Washer V4" 338104 4 10 | Wire Nut - 4 ea-230v or 6 ea-460v | 450296 |4 or 6
3 | Cover 117348 | 1 11 | Lock Nut 2" 450440 1
4 | Weight - see above for pn 196017 1 12 | Cord Restraint 2" 450435 1
5 | Bolt Hex %" - 20 X 1" 330010 1 13 | Terminal Ring #10 16-14 AWG | 450262 1
6 | Housing 145042 1 14 | Electric Cord 16/4 450319 1
7 | Bearing 6304 2RS 380304 2 15 | Bearing Cover 117142 1
8 | Rotor 463011 | 1

Copyright 2016 © Global Manufacturing, Inc QT2-175-250-500-3PH_06/21/16 rev 2



¢ \ 5 Global Manufacturing, Inc®
1801 East 22nd Street
/ Little Rock, Arkansas 72206
A g 501.374.7416 &L
VIBRATORS VIBRATORS AIR BLASTERS 501.376.7147FAX
www.GlobalManufacturing.com 800.551.3569 ToLL FREE USA & CANADA

Parts List for QT2-800-1 - 60 Hz - 1 Phase - 115 /230 Volt

QT2-800-1 115 Volt (pn 6211008) QT2-800-1 230 Volt (pn 6212008)

Description Part # | Qty ‘ Description Part # | Qty

1 Lock Nut Y- 20" 334204 8 9 Rotor 461211 1

2 Lock Washer " 338104 8 10 | Stator 461213 1

3 Draw Bolt ¥ - 20 x 12 34" 340213 4 11 Wire Nuts 115V-2 ea / 230V-3 ea 450296 |2 o0r 3

4 Cover 117348 2 12 Lock Nut 2" 450440 1

5 Weight 196080 2 13 Cord Restraint 2" 450435 1

6 Hex Bolt % - 20 x 1" 330010 2 14 Terminal Ring #10 16-14AWG 450262 1

7 Housing 145042 2 15 Electric Cord (no plug on 230V) 450316 1

8 Bearing 6304 2RS 380304 2 16

COPYRIGHT © 2016- Global Manufacturing, Inc QT2-800 115-230V 1PH_07/01/16



© w © Global Manufacturing, Inc®
1801 East 22nd Street
Little Rock, Arkansas 72206
A g 501.374.7416 TeL
VIBRATORS VIBRATORS AIR BLASTERS 501.376.7147 rax
www.GlobalManufacturing.com 800.551.3569 ToLL FREE USA & CANADA e

Parts List for QT2-800-3 - 60 Hz - Three Phase - 230 /460 Volt

QT2-800-3 230 Volt (pn 6232008) QT2-800-3 460 Volt (pn 6234008)

Description Part # Qty‘ Description Part # | Qty

1 Lock Nut %a- 20" 334204 8 9 Rotor 463111 1

2 Lock Washer 4" 338104 8 10 | Stator 463113 1

3 Draw Bolt ¥4 - 20 x 12 34" 340213 4 11 Wire Nuts 230V-4 ea / 460V-6 ea 450296 |4 or 6

4 Cover 117348 2 12 Lock Nut 2" 450440 1

5 Weight 196080 2 13 Cord Restraint 2" 450435 1

6 Hex Bolt %2 - 20 x 1" 330010 2 14 Terminal Ring #10 16-14AWG 450262 1

7 Housing 145042 2 15 Electric Cord (no plug on 230V) 450316 1

8 Bearing 6304 2RS 380304 2

COPYRIGHT © 2016- Global Manufacturing, Inc QT2-800 230-460V 3PH_07/01/16



	QT2-175-250-500 115-230V 1PH Parts List
	QT2-175-250-500 230-460V 3PH Parts List
	QT2-800 115-230V 1PH Parts List
	QT2-800 230-460V 3PH Parts List
	DEG-900-1200 115-230V 1PH Parts List
	DEG-900-1200 230-460-575V 3PH Parts List
	DEG-1300-2000 230-460-575V 3PH
	DEG-2500-3000-3500 230-460-575V 3PH



